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Detailed Discussion

2  Rule 01: Subject af& Third Person ¢ Singular Number (he, she, it 8 @TFI! A, I8 Tw5i™) T ©I=e, Verb @
C*ITa S/es-Cae &1 Verb-a3 (I3 “y” AT R “y” @3 #[T& consonant AR ‘y” -3 2IR_TS ‘ies’ 07 | @1t Verb-
@3 ¥t sh, ss, ch, X @3 0 ACF SIAR ¢*ITT es [l = |

Example:

» Buttheirtoil ___ (go) away due to lack of scientific knowledge. [RB’24]
Ans: But their toil goes away due to lack of scientific knowledge.

»  Deforestation (mean) cutting down trees at random. [Din.B’23]

Ans: Deforestation means cutting down trees at random.
2 Rule 02: Universal truth (o= 37e7), habitual fact (STer™ar® %) (=i Simple Present Tense =1
Example:
»  So, the Almighty in His mercy (conceal) the future from all his creatures and reveals only present.
Ans: So, the Almighty in His mercy conceals the future from all his creatures and reveals only present.
2  Rule 03: (ST 30 Trad «ACE w1 @« Sentence-« T always, regularly, sometimes, often, generally, daily,
every day, occasionally, usually, normally Z@5if¢ 2t ©ta Simple Present Tense 23|

Example:

» They sometimes ___ (do) well in the examination. [Alim’24]
Ans: They sometimes do well in the examination.

» He always (need) a company. [SB’23]

Ans: He always needs a company.
2  Rule 04: It Sentence-« W has/have/had It Si=teT Verb @3 Past participle 21 (T==:

Example:
> This curiosity for knowing more has (inspire) him to undertake and carry out difficult and dangerous
tasks. [MB’24]

Ans: This curiosity for knowing more has inspired him to undertake and carry out difficult and dangerous tasks.
> We have (select) him captain.
Ans: We have selected him captain.
2  Rule 05: Just, just now, already, yet, ever, lately, recently 2I<steT Present Perfect Tense 231

Example:

»  Heis never satisfied with what he already __ (know) and seen. [MB’24]
Ans: He is never satisfied with what he has already known and seen.

» Italready (prove) its worth in many an international match. [MB°23]

Ans: It has already proved its worth in many an international match.
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Rule 06: Srsis foi=iss =% it phrase (G once, yesterday, ago, long since, last night STeITea It e, ©ifa, 197, 3Te
g1 ARFCeT Verb @ Past form =31
Example:
» 0On 26 March 1971, Bangabandhu Sheikh Mujibur Rahman (declare) the independence of Bangladesh.  [BB’23]
Ans: On 26 March, 1971, Bangabandhu Sheikh Mujibur Rahman declared the independence of Bangladesh.
2 Rule 07:3W @Mar Simple Sentence-« ¥f6 Verb 2tE SIzca B Verb-a3 Mt ing @19 F40e 2 ==l Verb-
531 =74 to FTICe =7 =T verb-f531 Past Participle Fce =311

Example:

» They often remain ____ (hide) under the deep green in search of the prey. [BB’24, 22; DB’17]
Ans: They often remain hidden under the deep green in search of the prey.

»  They cut trees (make) profit. [Din.B’23]

Ans: They cut trees to make profit.
2  Rule 08: Can, could, may, might, shall, should, will, would, ought to, have to, had to, had better, had rather,
would better, would rather, let, must, need, dare gy #It7 2w verb-a3 Base form =1 €3 @ws verb @3 =t4 to

Y TS to TLo A |

Example:

»  Our new curriculum will ___ (enhance) the students capacity of solving problems. [Alim’24]
Ans: Our new curriculum will enhance the students capacity of solving problems.

» S0, during this period of life students mustn’t (to waste) time. [DB’23]

Ans: So, during this period of life students mustn’t waste time.
S  Rule09: &ms Verb @3 ‘{cé mind, worth, without, past, cannot help, could not help, with a view to, look forward to,
would you mind, get used to «3: preposition AUFCET @78 Verb @ 1t ing @9 909 21
Example:
»  Student life is the best time for (prepare) ourself for future. [DB’23]
Ans: Student life is the best time for preparing ourself for future.
2 Rule 10: am, is, are, was, were 971 “to be” verb-«a 7 Passive \Voice &3 (@ FIITHF Verb-«3 Past Participle =1

Example:

» They are hardly (see) in the open unless there is a strong necessity. [BB’24, 22; DB’17]
Ans: They are hardly seen in the open unless there is a strong necessity.

» ltis (call) the seed time of life. [DB’23]

Ans: It is called the seed time of life.
©  Rule 11: (I P& 04 ¥F XA G¥Ne 7L 5e1R (IC verb-a3 Present Perfect/Present Perfect Continuous
Tense = | GTFE Sentence @ for/since+ time/time phrase AT |
Example:
> | (sleep) for three hours.
Ans: | have been sleeping for three hours.
» It (rain) since morning.
Ans: It has been raining since morning.
2 Rule 12: Have, has, had, get, got w51t verb-&teT 74+ (T sentence-a3 3edy Causative verb-g3 Fier e G
O 7T (I IFA SR ATF, O o4 verb-BF Past Participle &1
> | got the door (close) by him.
Ans: | got the door closed by him.
> | had my water (boil).
Ans: | had my water boiled.
©  Rule 13: While €3 5 a3 G M4 (@ f&T AT ©1F A0 ing @1 271 7@ while @3 #Ita subject A=wTet
while @3 =12*fs Past Continuous Tense 231
Example:
»  While (cross) the road, they should be careful. [BB’22, DB’17]
Ans: While crossing the road, they should be careful.

) UDVASH A, g s



HSC Question Bank 2025 ’ English 2nd Paper : Use of Verbs \g -

Rule 01: (FITAT sentence-a3 verb SIF subject-43 number @3z person ST 9% 27 iR subject singular 2
verb singular 27 @32 subject plural 2T verb plural 21 GTF@ Prepostion €3 ST word T phrase & subject

IEGISEEIEE

Example:

» The life of our farmers ____ (be) full of hardships. [RB’24]
Ans: The life of our farmers is full of hardships.

»  The main pursuit of the students (be) study. [DB’23]

Ans: The main pursuit of the students is study.
2 Rule 15: (FItaT sentence W there @11 ¥F T €A OF 2[ IW singular number ATF SICE there @9t singular
verb IC7 1 K plural number AFCA there @39t plural verb ITT

Example:

> Once upon a time, there (be) a king who was very fond of knowing his future from the astrologers. [DB24]
Ans: Once upon a time, there was a king who was very fond of knowing his future from the astrologers.

»  There (be) many reasons for this. [JB°23]

Ans: There are many reasons for this.

/ Hints with Sample Answer /

O Read the text below and fill in the gaps with the correct form of verbs.
Road mishap (a) __ (happen) in our country almost every day. Recently it (b) _ (rise) to an alarming rate
(c)__(take) a heavy toll of human lives. The members of a family remain anxious if someone (d) ___ (travel) in
a bus. In most cases, reckless driving () (cause) road accidents. The drivers are in the habit of (f) ___ (violate)
traffic rules. Road accidents can be (g) ___ (lessen) if the drivers drive their vehicles carefully. People should be
conscious in this respect. While (h) ___ (cross) the road, they should be careful. Some people travel (i) ___ (climb) on
the roof of the buses and trains. Traffic rules must be maintained strictly with a viewto (j) ___ (control) road accidents.

Answer

Q.No.  Answer | Explanation
a happens | Third person singular @3 =it verb @3 s/es 2 |
b has risen | Already, recently, just 2e7if adverb 1t 2=FCeT Present perfect tense T2 Fa0 (A |

@2 1T has risen verb IRTF T FAE0R | ©IF 99 &I finite verb I7Q9 41 AT
<1 &7 %@ take verb @ non finite S CACR |

o= 3Ty 1 STj71® et (JIRITS zero conditional IR T4 & | 7 FRETR =TI
d travels if @9 #It7 v1 A | Zero conditional: present simple+........ If + present simple T If
+ present ..... present simple.

Gerund (v+ing) JTFFA subject ReTta 7 @IS singular o 631 ETTF@ verb
A AN s/es T& A |

Preposition @3 #It3 (FITT verb SIFTCE (1o v+ing = | SIS &I preposition S<Rere
f violating | noun €3 7It4 TR = | ©I2 T preposition 6 GICT verb @3 =& I6T ©4F verb &
gerund 3 noun « AfH® FCS 2 |

lessened Modal auxiliary (can/could/may/might/shall should) + be @3 #It v3 2|

c taking

e causes

h crossing | While ¥ itF53 verb & ing I& =31
: climbin G e travel, finite verb XT3 919%9 =@tz | ©12 climb verb & non-finite Rt
s TR 41 R |

controlling | With a view to @< #[t v+ing 27|

-HI : s




HSC Question Bank 2025 ’ English 2nd Paper : Use of Verbs
‘ Board Questions ,

o

01. Read the following text and fill the gaps with correct form of verbs as per subject and context: [DB’24]
Once upon atime, there (a) ____ (be) a king who was very fond of (b) ___ (know) his future from the astrologers.
A famous astrologer (c) ___ (stop) at his capital on his way to home. The king called on himto (d) __ (know)
about the future and the astrologer (e) ____ (tell) him something unpleasant. At this the king (f) ___ (get) furious
and (g) ___ (condemn) him to death saying, “Men like you (h) __ (live) to spoil the peace of the world.” But
another thought (i) (cross) his mind before the astrologer (j) __ (send) for execution. “How long will you
(K) ___ (live)?” asked the king. With ready wit, the astrologer said, “The stars (1) (declare) that I shall die
only a week before your majesty, so goodbye.” (m) _ (hear) this, the king turned pale like a dead man and
shouted, “Drive this wretch away, let him (n) _ (come) here again.”

2

02. Read the text and fill the gaps with correct form of verbs as per subject and context: [RB’24]
The life of our farmers (a) ____ (be) full of hardships. Many a farmer (b) __ (not know) how to cultivate
scientifically. They (c) ____ (work) hard from dawn to dusk. But their toil (d) ___ (go) away due to lack of
scientific knowledge. Our government offers a lot of opportunities to them with a view to (€) ____ (eliminate)
their sufferings. Unfortunately, they (f) ____ (not avail) themselves of those opportunities. Itis time they (g)
(to get) scientific education and all concerned (h) ____ (to help) them. If they (i) ____ (to educate), they (j)
(to contribute) better to the prosperity of the country. The prosperity of our country (K) ___ (to lie) in their proper
education. (I) ___ (to educate) a farmer (m) __ (mean) educating a family and a nation. And, it(n) ___ (to
result) in greater success in every sector of the country.

03. Read the following text and fill the gaps with correct form of verbs as per subject and context: [Ctg.B’24]
Relationships (a) ___ (be) of different kinds. Some (b) ____ (be) familial and intimate. (c) ____ (form) by blood
and by marriage; some are social like the ones we have with friends and some (d) ___ (make) in school where
we (e) __ (form) close bonds with classmates and teachers. Relationship canalso (f) _ (foster) in workplace,
which may quickly (g) ____ (change) from professional to social. There (h) ____ (be) relationships also between
human beings and animals, between children and their toys that they can’t (i) (part) with. All these
relationships (j) ___ (keep) us close to each other and (k) ___ (provide) us all kinds of support, love and
affection. A person (I) ___ (have) no family feels the pain of loneliness and isolation. There (m) __ (be) no
one to laugh or (n) ___ (cry) with him/her.

04. Read the text and fill in the gaps with the correct form of verbs as per subject and context: [BB’24]
Tigers (@) ____ (know) as ferocious animals. But they hardly (b) ___ (kill) any animal when they are not
hungry. Usually the tigers (c) __ (reside) in the deep forest. They are hardly (d) __ (see) in the open
unless there (e) ___ (to be) a strong necessity. They often remain (f) __ (hide) under the deep green in
seach of the prey. Whenever they (g) __ (discern) any prospective prey, they take a pose to (h) ___ (fall)
upon it. Tigers often (i) (unite) themselves to (j) __ (attack) their prey from different directions. An adult
tiger (K) ___ (devour) 20 to 30 kilograms of meat at a single meal. In our Sundarbans the number of tigers
() ___ (decrease) day by day. Poaching and illegal trafficking (m) __ (to be) the main reasons of
decrease. So the concerned authority should be committed to (n) _ (take) action to protect the tigers.

05. Read the following text and fill the gaps with correct form of verbs as per subject and context: [JB’24]
Dear Mr. and Mrs. Biswas,
We are very (a) _ (concern) about your son Rahel’s behaviour. He (b)  (play) truant from school three
times last month. When he () (come) to class, he usually (d) __ (not concentrate) on his lessons. He does
not seem to understand text and never (€) ___ (ask) any questions. The only time he (f)___ (show) any initiative
isin (g) (make) excuses for not (n) ___ (to have) (i) ____ (do) his homework. Although (j) ___ (have)
a natural talent for art, he even (k) (not take) any interest in art lessons. Thisis (I) ____ (disappoint), because
even last year he (m) ___ (be) attentive in his studies. We hoped he (n) ____ (win) a scholarship.
I would like to request you to come to school to discuss this Situation further.
Yours Sincerely
J.H. Khan, Principal.
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